AP Calculus AB Summer Assignment

Find the x- and y-intercepts and the domain and range, and sketch the graph. No calculator.
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4. y=sinx, 27 <x<27 5. y=cosx, —27r <x <271 6. y=tanx, 27 <x <27
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Find the asymptotes (horizontal, vertical, and slant), symmetry, and intercepts, and sketch the graph.
No calculator.
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Solve. No calculator.
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Evaluate. No calculator.
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33. cos(Silfl(h)) 34. sec( Arc tan (4x)
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Solve. Give exact answers in radians, 0 < x < 27. No calculator.
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35. 2c0s” x+3cosx—2=0 36. 2sin” x—cosx =1 37. sin(2x)=cosx
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38. 2cos(2x)+1=0 39. 2¢sc”x+3cscx—2=0 40. tan® x—secx =1
X -y
41.2(:03[—}— 3=0 42. tan(2x):—\/?: 43. 2sin(3x)—+/3=0
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Solve. Show all steps. Use your calculator, and give decimal answers correct to three decimal places.

44, 3 =37 45 &2 —56" +6=0 46. ¢" —12¢77 —1=0
50
47. =11 48. In(5x—1)=3
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49. The number of students in a school infected with the flu 7 days after exposure is modeled by the
300
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(a) How many students were infected after three days?
(b) When will 100 students be infected?

function P(r)=

50. Exponential growth is modeled by the function n = Jroeh . A culture contains 500 bacteria when #= 0.

After an hour, the number of bacteria 1s 1200.
(a) How many bacteria are there after four hours?
(b) After how many hours will there be 8000 bacteria?



